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Directions: Graph each function and identify its key characterisfics.
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STEPS

STEP 1. Enter your equation info Y1 =
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STEP 2: WINDOW and Disconfinuity Detection
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Graph each

Identify the

range,

and holes.
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Steps: 1.) Divide 2.) Multiply 3.) Subtract 4.) Drop 5.) Repeat
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Long Division of Polynomials
Steps: 1.) Divide 2.) Multiply

3.) Subtract

**** Remember to add in place holding zeros!!!
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Long Division of Polynomials
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**** Remember to add in place holding zeros!!!
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Long Division of Polynomials Long Division of Polynomials

Steps: 1.) Divide 2.) Multiply 3.) Subtract 4.) Drop 5.) Repeat Steps: 1.) Divide 2.) Multiply 3.) Subtract 4.) Drop 5.) Repeat
**** Remember to add in place holding zeros!!! **** Remember to add in place holding zeros!!!
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Examples: Horizontal Asymptotes (HA)
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HW: Text pg 356-357

Divide using polynomial long division.

4.(2° =72 —17x = 3) = (2x + 3)

USING LONG DIVISION Divide using polynomial long division.
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- Do YOUR besT. Re prepored Tolearn.
You will succeed

- HW on your desks

Also, check your grades! If you have
amissing, you NEED To complete
That TODAY afTer school Otherwise,
iT's a ZERO.

USING SYNTHETIC DIVISION Divide using synthetic division.

28. (F — 14x+8) = (x + 4 K=4 3.2+ 7x+8) = (x—2) K=2
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FACTORING Factor the polynomial given that f(k) = 0.
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FACTORING Factor the polynomial given that f(k) = 0.
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Putting it all together now:
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| can write The equation of a function with The given characteristics.
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Divide using poly ial long divisi
4.(2° = 72— 17x —3) + 2x + 3)
USING LONG DIVISION Divide using polynomial long division.

far.e¢+n=02-1

USING SYNTHETIC DIVISION Divide using synthetic division.
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